Termes Manquants (G)

Remplissez chaque espace ci-dessous avec son terme manquant correpondant.

_ x 6 = 54 48 ~ = 6 6 + = 8
=5 =5 18 + =3 2 - =3
=1 =2 4 x =16 14 - =8
-5 =4 7 - =1 =2 =5
11 - =3 3+ =9  x 7 = 14
4+ 9 =14 X 9 =7 3 x = 18
 x 3 = 18 2 + =5 16 + = 8

-6 = 7 4 x = 16 6 + = 14
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Termes Manquants (G) Solutions

Remplissez chaque espace ci-dessous avec son terme manquant correpondant.

9 x 6 = 54 48 + 8 = 6 6 +
=9 =38 =
25 + 5 =5 18 + 6 = 3 12 -
=25 =6 =
2+ 1 = 2 4 x 4 =16 14 —

=2 =4 =
9 — 5 = 4 7 - 6 = 1 10 +

=09 =6 =
11 -8 =3 3+ 6 =9 2 %
=3 =6 =
5+ 9 = 14 g8 x 9 =72 3%

=5 =8 =
6 x 3 = 18 2 + 3 =5 16

=6 =3 =
13 - 6 =7 4 x 4 =16 6 +
= 13 = 4 =

14

18

14
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